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A S i print £ R E——7 B

printf( “%.2If" ,125*1.0285) ; WiH45RIRE 21/ N4,

printf( “%g"” ,125*1.0285); “%g" ZE<iEXFFTHR>, ME125*1.0285i %/ )\ H (RZ6(IBREE).

printf("%d %d",2%(3+4),3*4); "%d %d" B <BRMFFHE>, HPFHE—P%dRE2*(3+4)LEBHE.

printf( "%8d %8d" ,2%(3+4),3+4); "%8d %8d" B <ISRMATHE>, %SAHUEMILIIEL HSISHE.

printf( “weight=%.3If$\n" ,2.4563); #iH weight=2.456




far A A E R print f BB ——FEFF

#include <iostream>

using namespace std;

int main()

{

printf("%.21f\n",125*1.0285) ; // iHEEERIFER 2\ 1/)\E,

%0g\n",125*1.0285); // "%g" B <BTULFFER>, ME125%1.02851%/ &t (&Z 6B EF), cout
printf("%d %d\n",2*(3+4),3*4); //"%d %d" B <BTULFFFE>, HERFE—1%IME2*(3+4)ZBEMEH. cout
printf("%4d:%4d\n",230/60,230%60); // “%4d %4d" Z<IEHUFERTE>, SAdERHNEESMETE,
printf("weight=%.3If$\n",2.4563); // %+ weight=2.456%

return O;
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printf Fcout L&

#include <iostream>

using namespace std;

int main()

{

printf("%g\n",125%1.0287); // "%9" R<BIHFFE>, ME125*1.0285#%/ Nl H (R 6 EELF).
cout<<125*1.0287<<endl;

printf("%d %d\n",2*(3+4),3%4); //"%d %d" 2 <BNHFFFE>, HPRFE—N%IAE2*(3+4)IRBHEH .
cout<<2*(3+4)<<"''<<3*4<<endl;

printf( “weight=%.31f$\n" ,2.4563); // % weight=2.456%
cout<<"weight="<<2.4563<<'$'<<endl; // H#itH weight=2.4563%

return O;
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